
9 ) T h i s i s plane that

i s parallel t o x y Plane

a n t threeu n i t s above i t

D T h i s i s plane t h t is

Parallel t o X - Z Plane a n t

- F i n e units t o the r ight
o f i t

X-ax is r y-axis o r E - a x i s

X y -plane , × z - plane , Y E plane

8 - Pants called octants .



J

=@z-xD2tCyz-
yEz-zF.IE.J

= 4-212+[-341/2]=52 = l t 4 € 4

= 3

M e (44¥ , 911¥, Z I I ¥ )this i s the vertical plane t h e interest

× , plane i n the l ine y = x E - o

M = ( 2 ¥ , - 1 2 1 , 7 1 ¥ )
= ( 3 1 2 , - 2 , G )



Divide by ②

• cente r x2+ y 2+-22+4×+6 y + g = o

( x - xo f + (Y-Yo)-+ (z-zof= r ? • r a t i o s
X2+ 4-x + y 2+6, t Z Z + g = o

X2-14×+4 - 4 +92+6, + g - g t ZZ + g = o

( x +212 + ( Y + 3 )
2

+ ZZ - 4 -9/+91=0
Complete
s q u a r e

Cx-x .f t (Y-Toft Cz-zof-KO
(x-12 f t ( Y + 3 )

2

+ Z Z = 4 = 2 2
↳

K > o ' F K - 0 i f K a o K e 4 > o t h e n sphere
then

then sphere then wi th Cente r C -2 , - 3 , o )
only the Point n o

Cxo, y o ,Fo) graph a n d radius = 2



-
T h e s e t o f P o i n t s bDween ( o r o n ) m e

the s p h e r e 1121+72=1 a n y
cen te r i s m = ( ' I I , - 2 ¥ , 4 ¥ )

x 2+5+72=4 a n d below ( o r on )
= ( 2 , I / - 4 )

X o T o Z o

the X - f p lane
Radius i s distance between a , - 2 , 4 ) and ( 2 1 1 , - 4 )

O r = ( 2 - I ) 2 + C l t # ¥ §
y ' '

'
' c ,

= 1 + 9 + 6 2 / 1 = 7 5 4= ÷ =
Eg% o f sphere i s

( X - 2 )
2

+ ( y - 1 )
2

+ (Z-145=74
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